Chop 9 ALGEBRAIC ExPRESSIONS AND

L. Multply the following.
(@) lix%y and 2x%?

2. Find the products of.
@ (=2n2)(Gy)(-329

@) (6a’b)(—2b%)(3ac?)

() 3y and 7y°

IDEATITIES

@ity 5x' and 4x° (i) — 9%y and 4x?z

(@ (ab)(be)ca)

o (5o 2oc) lea)

3. Find the value of (3p%g) x (8¢%), when p=landg=|— 1 ;
4

1
4. Find the value of (— 8x%y*) % ( -gxyzj, whenx=—1and y=2.

5. Find the product of (3275, (- 7% and (5a%6%), and then verif ytheresult fore=2and b= 3.

. Find the product of (— ixyzz] and (- 22%), then verify the result for x = l,y=2andz=3.

7. Verify a®bc? = {ab) % (bc) % (ca), fora =3 and b = 4.

8. Find the product and then verify the following fora=2 gnd = - 5.

@) a(a® — ab?

30

i the product of the following.
@ 2x(3x + y?)
(i) 3a*4a~ 5a%)

\'r - Sooma— 2 — —
(v} obc(l,. u“he 10 abc” )

10. Multiply 3 y z, {—i) x” and {—3xz%), and then verify the result forx =

(i) % a(ab - %asz

@ (=392 +3xy)
(iv) — 8a?b(— 302 - 25)

(D Ta(0.1a* ~ 0.5b)

1. _1
=73

{1 Find the following products and verify the resulis for s =—1 andy=-2,

@ G +2y)(x+y)
) (3 +357 oy -39

o (b

j2. lFimo:i the products of the following,
@ (Bx-2)(522 + 6x+2)
@) (r+ 3~ xy + 37

) P+ )P -2y + )

|3 Simplify.
O Gy+2)y-2)-(Ty+3)y-4)
@) 2+ G- )Ex+y +))

@) -y + )
) =)0 +y)

o) (0.7x - 0.6y)(2.3x — 2)

G G2+ 3+ D0y +52)
V) (5x*+3)(3x + 2Zy)

3.5 1
(i) (gx’—3y+2] (gx—y)

(0 (2x—3y)(x + ¥) — (5x + 2¥)(x - )
@) (@*-3a+5)2a-3)— (522 + 3a-3)a-1)
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345 Find the products of the following.

@) 2x—y)3x+y)

@) (x - 3G+ 3x)

|
|

( 1Y, . 1)
@ (#+5 )73

() (E-ax—-a) ) ( X+= y} (x*+ ") o) (@b + ek + b)
|, Findihe following producis. oy uging zcm,,u(, Hes
@ (5x+9)5x-9) @) @ +)E =)
@) (2 + 3y - 32) (v) (x - %) (; 2 %)

1§ Pindthe foliowing producis.
@ (5x=3y)(6x=3Y)
@) (2 =50 =5)
"7 . Find the following products.
@ (x+3)x+ 3)

o)

@ |25+
5

@ o=30-3)
o0 (3r-22)o- )

G) (2a+3b)2a+ 3b)

{2 3 '
{iv) \é X 5) (% X SJ

18 Simplify using identities.
@ 133 x 133 -121 x 121 () 589 %5.80-011x0.1"
93x93-5%5 q IBX32-0ITX 017
z 88 312
|G  Find the value of the expression 362 + 60xy + 2)7, when x =4 andy=-"7.
20 Find the velue of the following expressions, whenx=4andy="T.
() 495 + 126xy + 81y @) 4o — 122y + 9 i) (¢ -y
1 1
21 . If(x * ) 3, find the valucof[x + —)
99 . Using the identities, evainste the following.
@ 1022 G 3112 Gii) 72* Gv) 89*
(v) 118 (vi) 989* (i) 13 x7 (vii) 73 x 67

(ix) 9.3 % 8.7 x) 125x%115

(xi) 105 %95 (i) 153 x 147
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